
Transfert à poser

x1
Serrure triangle
ACC 19072
x1
Adhesif blanc
ACC 01019

x1
Corps corbeille 40 L
ATE 208110.B

x2
Support
ATE 208141.A

x4
Vis H M8x10
ACC22277

x4
Rondelle M8 N
ACC18145

x 1
Charnière 60x60
ATE 03284
x4
Rivets 4x12
ACC 18202

x1
Couvercle corbeille 40L
ATE 208110.A

A

D x1
Clef triangle
ACC 03341

x1
Seau 40 L

90001003.001
F

B
x4
Vis H M8x20
ACC 22224

x 4
Ecrou H M8
ACC 05000 C x2

Clé triangle
ATE 208141.B

C

B

B

A

CORBEILLE pour poteau 80 x 80
Réf. 208141

D 701  Corbeille pour poteau 80 x 80 - Version 2 - Date : 26 06 2006   N° 304


